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Instructions to the candidates -

1.

EAE-TH S RA WA WAL AW YT H IW AT I T H 2 9 5 T
q wan® fawew §
This question paper consists of five questions. A/l the questions have to be

answered. Question Nos. 2 to § have an internal choice.

UY9-U ® A 3% 300 € a0 fulfa g 3 w2 ¥ | afe w=aw IF v ™
T A WY U % R WEHM T | WAl & W 3G gy § Fm T Tfee faEe
THT A IO HEA-UH B fREw § | fR 3w onas € RE R TR W @R
3k 96 g | W U W R e O OE-T3 F FEER F W &
ST FAMAR &, TF & W9 & fafuy= sl = =% ¥75= == = % 99 ¥ fow
I qA Tk AE FG WAl & I T Tm FE Ty I WEY hadoed @
Imgm § foar s 9@ .  Rt=few 5%
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The total number of marks ot the questicn paper is 300 and the time allotted

18 3 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
i your Application Form. No marks will be awarded, if the answer 1s written
'n1 any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
saper. Answers to the various parts of the same question should be written
together compulsorily and no answers of ~ther questions should be inserted
between them. Regular calculator alone can be used in the exam, not the

“elentific one.

LU Yy A 3[40 g R 20 aifrmid o3 FN | Tl WEF &7 SW Ueh AU
¥ 9 § 2T A

The first gquestion will be of short answer type censisting of 20 compulsory
cuestiony, each one 1s to be answered n one or two lines,

Wk

g O @ M ¥ O3AR vy e WL

Wherever word limit has been given, it must be adhered to.

S 7 R v A fEE 9ER D mag {EW A1 9edicHeh YRR Wl qf B, O YA &
T AW FUST TURR A ¥ AU FURK HHE HET S|

T~ case there is any error of prninting or factual nature, then out of the Hindi

1

=3 Engish vorsions of the oiostion <he English version will be treated as

CAEDNLAE (1)

AT . Y1
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1. Tfafea w@® o U9 9vd w1 30 e a1 & dfekEl § O SifSu ;. 20x3=60

Answer the following short answer type questions in one or fwo lines

each :

(A) T Th. 9@ & g HASERNER 1 & T gt s |
(zive the definition of Sociclo::- as given by L.F. Ward.

(B) gGEH & 37U 9HNNTE i faudasg &1 § 7

What is the subject matter of Sociology according to Durkheim ?

Cr ‘3gFeTHl’ &l yHE diF favward adqEe
Write three main characteristics of "‘Hyvpothesis'.
Whar 1z "Interview Guide 7

(B) ST & w==v CSeemar w1 e oY § 7

What i1s the meaning of Trusteeship’ according of Gandhij ?

F) o s % R e w9 Y 0

According to Sri Aurobindo who i1s ‘Superhuman’ ?

M1912010 19(1) P.T.O.
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(G) ﬁ.aﬁ.w*aﬁwﬁm‘mmﬂm"w%?
What is ‘Social Equality’ according to Dr. B.R. Ambedkar ?
H) ‘'"=fd’ &1 yg@ §F foafuad sdqEe |
Write three main characteristics of ‘Culture’.
(D wfa wen &1 gfrfa sifse |
Define Caste System.
(J) ‘veq fegfa’ & 39 w1 WHIC § 2
What do vou understand by ‘Ascribed Status’ ?
(K) ‘AdeRl’ % JhR SRt |
Write the types of ‘Kinship’.
(L) 9dl &% AU W JfER & E&d Jast |
Explain the forms of family on the basis of authority.
M ‘feg O & YHR FqEy |

Menton the forms of ‘Hindu Marriage’.

Mi912010 19(1)
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(N) TR0 &% 9EEd 99 R 9 99E 9aqRy |

Mention three impacts of urbanization on Indian society.
(0) ‘T foarE’ F=@m g 2

What 1s ‘Marriage by Capture’ ?
(P)  ARETE & 6 h P FA h AT ITA FAREC

(Give three suggestions to remove evils of Bureaucracy.
(Q 'HEWI TR’ W Y o WHIA § 7

What do you mean by ‘Participant Observation’ ?
(R)  'TSHifas g’ &t ofauron w1 § ? fafed |

What is the concept of ‘Political Leadership™ ? Write.
(S) 9H & yg@ = m TATST |

Explain the main three functions of ‘Religion’.
(T) W*W‘mqﬂ'mwaé% ?

What 1s the meaning of ‘Surplus Value’ according to Marx ?

M1912010 19(1) P.T.O.
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2. <9 frey" = dRafeg wifST qen %9 feel= & === =+t wfafedt =+t fag=m

EAIE L 60
Define Random Sampling and describe the techniques of selecting Random
Sampling.

HIAT

(Or)

EITSS ST ] GRS SHIfSE e IREH & QHse Jael & [9g &l
qUIF ST |

Define Social System and describe the Parson’s theory of Social System.

3. Omee W ¥ o9 w1 9uwd § ? 39 wed O 2fow mw | & fomwm &+
T hiST | 60

What do you understand by Social Stratification 7 Explain the views of

Davis and Moore in this regard.

HAAT

(Or)

fog @O = d foae & wg@ &1 auF &ifsu | W 9fad & HE S
T 7
Bring out the importance of Marriage in Hindu Social System. Why has 1t

been regarded as a sacrament ?

M1912010 19(1)
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4,  9dEY ¥ ‘HagH SHEER' Wl YWifad i W FRehl Fi fFaw wifST 1 60
Iiscuss the factors influencing the ‘Voting Behaviour’ in India.
HAdAT
(Or)
ﬁﬁ%?wﬁm—w@%ﬁvﬁaﬁﬁﬁmwwmwﬁmm |

Critically examine Sorokin’s theory of socio-cultural change.

5. ffefea § @ 5= 9 | gfyw femforaf fofar | v@e feoquit =1 s oy

200 V=1 H e 4x15=60

Write short notes on any four of the following. Answer each short note in

about 200 words
(A) 9HIN MY H G0 F1 T80 |
Importance of Observation in Social Research.

(B) Y™ 99 T S9E[RI0 H YYE |

Impact of (Globalization on Indian Society.

M1912010 19(1) P.T.0.
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(C) foen =t gmifss ufgds 9 e |

Role of Education in Social Change.
D) s @ et w3 aeife T w1 oaf

Role of Political Partie.s in the political development of India.
(E) STH<] U WeAEc! H 3R hifed |

Differentiate between Schedule and Questionnaire.

(F) d99Fdl U9 998 &1 TMH0 g4 W Y9E |

Impact of Panchayati Raj System on Rural Life.

M1912010 19(1)
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Instructions to the candidates :

1. O UA-TTH KA WA G E I AW WA TH A E | I F 2 ¥ 5 T
4 afies fasheq § 1

This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5§ have an internal choice.

2. YTA-UA &% Kl 3% 300 & a Fuifa wwy 3 w2 ¥ 1 A s=en 6 <wian @
g, O O YTl & A% WHHE ¥ | WAl ® <) 39 "y H fo@ 9 =nfew foge
FI9 O HUA EeA-Ux H fhan ¥ 1 Rl o7 mwream § fog T S W
F% T8 foerm | vl ure g w5 safed ® O WU § 3 Er @ vl &
I FAENAR T UF B 9 & fafv= v & I e w9 9w g § g
I AU S d" T YA & W A W W | we 4 WS Sl w
s H o S ogdar 7 ORf=iEe T8 |
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The total number of marks of the question paper is 300 and the time allotted

is 8 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer 1s written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be 1nserted

between them. Regular calculator alone can be used in exam, not the scientific

o1le.

3. YYH WYT oY 4 enn fEH 20 IHa™ gvH 3 | Yos WA 1 IW Ueh U]
o gfeqa | S '

The first question will be of short answer type consisting of 20 compulsory

questions, each one is to be answered in one or {wo lines.

4. SE v WE A R T OSHFT FIYY W kL |

Wherever word limit has been given, it must be adhered to.

gfe fordt wva § fd ¥R &1 ®E 459 F dAHE YRR HI A B, 9 q9H &
fegt don 37l ®9d 8 9 37N ®9a HEE HJE S|

S‘JI

In case there is any error of printing or factual nature. then out of the Hindi
and English versions of the question. the English version will be treated as

standard.

M1922010 19(2)
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1. YA F¥T oY S99 ¥ TNEH 20 9N ¥ | e 1 SW Uk A @ ufadl #H

CCIEA 20x3=60

The first question is of short answer type having 20 questions, each one is

to be answered 1n one or fwo lines :
(A) TP fgg 9He ® HE q g A |

Any two basic characteristics of traditional Hindu society.

(B) gmifster ufiEes & $R & HRF |

Any two factors of social change.
(C) fa =weeqn &1 Iafa & & o fagma

Anyv fuwo theories of origin of the caste system.

e wlls,

N )
381 e O TS e S TR

Kinds of social mobility.

(B) =4 & *8 I fagra |
Any two types of doctrine of Karma.
F) | gewmgl % 9m fafed

Write down the names of four Purusharthas.

M1922010 19(2) P.T.O.
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Q) wffe @t we § osw wE @ W

Any two emerging trends in agrarian class structure.

M) Fmfsw =E — b, hEER 7
Social Justice — Why, ‘Whom ?
1) ufem & wifas & |
Essential functions of family.
J) e foa® &1 g FREHE |
Major problems of Hindu marriage.
K) T grfses SRE % & Udsh S T |
Too distinctive social features of rural social structure.
L) ARG s ST E @ e WS fagroard |

Two distinctive social characteristics of urban zoclal structure.

(M) FERI & Weh |

Types of Kinship.

M1922010 19(2) -
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N) fe<g faore wa ofEr et g wmfse srfafam |

Two social legislations regarding Hindu marriage and family.
(Q) TEfERY TRl gaE |

Environmental problems.
(P) &S &I Semadl |

Some main tribes.

- .

Q) WY HIWEE F I |

Objectives of Sarva Shiksha Abhivan.

(R) T 5 & &g diF FRI |
Any three causes of child labour.
(S) dfga TgRl +i VeI T |
Educational problems of the disadvantaged groups.

Occupations engaging chiid worsers.

M1922010 19(2) P.T.O.
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fgdata, gt @@ uqedl 99l H YE® H TE Aie foadeu ¥ foem < H o

Tk &1 F97 HET § | 579 9% H HE TB-HH TE & | Ucdeh YA 60 3Hehl H

T |

In questions 2, 3 and 4 each has an option. Select either of the two. There

is no word limit. Each question carries 60 marks.

2. Fuf Tewen % Iufe Tl fogial & =reT &ifted | 60

Discuss the theories of the origin of Varna System.

AT

(Or)

EWY I YRUT FH TR HIU | 3HR FHSIGIE Heed 1 T390 |

Explain the concept of Purushartha. State its sociological importance.

3. WIfdae &% 3ISAHEA H FHRF] TE AAFE F TmErT w3 H faaEd

FITd | 60

Discuss the factors of emergence of casteism and the steps to eradicate the

casteism.

M1922010 19(2)
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HAqT

(Or)

.~ -,

SASAI] % Uehlah{U] U IMHTRHU & IO &7 faa=T #fsy

Discuss the problem of tribal integration and assimilation.

4. gHEISE a9t &1 faoae @ ufar @ = quE 99 ¥ 2 9eRy 60

What 1mpact of social legislations has been on marriage and family 7

Explain.

HAJT

(Or)

‘gafvien sfEm” W uw ey fafed

Write an essay on “Sarva Shiksha Abhiyan”.

Q'

mrmdﬁ@ﬁﬁwmmmzooWﬁW%m: 15x4=60

Write notes in about 200 words on any four of the following

x"'____""_‘_ — - . -, -
A o d e - o> *::iS!EIFI%]ﬁ |

Characteristics of Globalization.

M1922010 19(2) P.T.O.



B) FTOHO &1 faveard

Characteristics of urbanization.

(C)  AYH FGL

Bonded labour.

(D) FuH 3N F HIT

Causes of agrarian unrest.

) - diE @9™ % R0

Causes of Inter-generation conflict.

(F) Tfem fooe & 3w @ 96|

Aims and conditions of Muslim marrage.

M1922010 19(2)



